N & 0l & Av S Z M A
P0I9WE = 1 3 sl L0IY ~ SAHUSS
A ol
Ba: NPy A9y 25
el KXl CERED
& HH - (3 H) - HEMY - BdS Ol &F o4 I E M Husz
0l 2,314,903 2,197,290 117,613
Ngrss oz 23 363,966 319,353 44,613
BT 363,966 319,353 44,613
A2y 39,060 33,340 5,720
201 Yot Fh| 39,060 33,340 5,720
01 Ak 22l 12,560 6,840 5,720
OB (M= ME) DAY
5,000,00020 * 1042 5,000 0 5,000
oolEAs BIIHF) YR
45,0008 = 204 * 83 720 0 720
DexHs2ey e 38,893 0 38,893
201 YEr2 | 7,031 0 7,031
01 Ak 22l 5,860 0 5,860
oINS RAV 2,900 0 2,900
Ost=a o HASE 50,0002 * 8% 400 0 400
O2SES 2,000,000& 2,000 0 2,000
Ogetels &3 500,002 * 174 500 0 500
OFIIHHBRINEY +48 88,0008 » 8% 704 0 704
OAYOIHBRINY £48 150,008 * 8% 1,200 0 1,200
CELIETE--5] 10,0008 * 8% 800 0 800
CE-EII- P 32,0008 + 8% 256 0 256
02 B2 1,171 0 1,171
CEPIE=E! 10,0002 * 8% 800 0 800
ONGt+ER3 30,0008 + 8% 240 0 240
CEEESTTGCENS 1958 * 669M 131 0 131
405 TH&HF St 31,862 0 31,862
IR EEEEE 31,862 0 31,862
onAH 27,417 0 27,417
O#AIIT(BYMHA) 3,920,002 * 2CH 7,840 0 7,840
O®AI|T(YAAOIZ) 960,008 » 1CH 960 0 960
OAIIR(FHAAOIZ) 1,180,008 * 1CH 1,180 0 1,180
OHAII P (HE E2H0I014)
2,160,008 * 1k 2,160 0 2,160
O#AJ| (510122101 41)
2,160,008 * 1k 2,160 0 2,160
OHAIR(YOAATHYA)
2,160,008 * 1k 2,160 0 2,160
OHAIIR(YDT2) 2,200,008 * 1CH 2,200 0 2,200
ORAIR(AYRE) 617,002 * 1CH 617 0 617
O#AIIT(MOIZR) 1,210,002 * 1CH 1,210 0 1,210
ORAID(AHH) 1,210,008 * 1CH 1,210 0 1,210




CHE - BRA(SH) - NRAY - BES 0l & o1E o 2
O#AIR(AHRE) 1,540,000 * 1CH 1,540 0 1,540
O"AIFR(E/LE) 660,000& = 2CH 1,320 0 1,320
oora delth 660,000& * 1K 660 0 660
OOtE M E 660,000& = 14 660 0 660
OYEDHARIDI 550,000& =« 2CH 1,100 0 1,100
OMSHAH 440,000& = 14 440 0 440

OEY+T% 2,100 0 2,100

O =M 700,000& * 3K 2,100 0 2,100

OHHERIEHZE 1,045 0 1,045

Ot = Xl == 1,045,000& * 1K 1,045 0 1,045

OAR A 1,300 0 1,300

OF=F; 200,000& = 104 200 0 200

OS2 Xt 300,000& = 1H 300 0 300

OMBIR 300,000& * 204 600 0 600

O0IsAMEH 200,000& = 14 200 0 200

Ao 901,107 828,107 73,000

KIS0 A 901,107 828,107 73,000

A2A2FU=RAAY 797,536 724,536 73,000

401 Al HIZ 201 8] 797,536 724,536 73,000

01 A& HI 793,000 720,000 73,000

OJtEt22] OtAZ RN 2I13 AH(L=200m)

10,000, 000& 10,000 0 10,000

oagel =2 WSS AH(L=120m) 15,000,000& 15,000 0 15,000
Oos4el =2 L =2 FHbI S AH(L=200m)

32,000,000& 32,000 0 32,000

OHlE22l =2 ZZ S AH(L=130m)
16,000,000& 16,000 0 16,000




= A
N = 0 &8 AFH Y & A AN
20109 & =& 1 3 LUGAH YOolH ~ HFMAFE S
SN B
PSEL BN =L PS]

CHel: Bt HEX (s ®d)
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
scdH 2,135,711 2,042,091 93,620
XA 328,191 322,571 5,620

ULt F F X 328,191 322,571 5,620
A 5t 51 A F H| 14,456 9,556 4,900

401 Al 2 HIZ 20| 4,900 0 4,900
01 A& H| 4,900 0 4,900
E22 Loy 25HE HI{ B AHL=10m,
B=3m) 4,900,0002 4,900 0 4,900
HA2G 22 30,267 29,547 720
201 LEre 9] 30,267 29,547 720
01 A2 22| H| 5,484 4,764 720
oflfaAzs ZIHAD X2
45,0002 * 20§ * 8= 720 0 720
Xl <o e 724,867 636,867 88,000
KIS0 AL 724,867 636,867 88,000
AFDF0=IAANY 629,390 541,390 88,000
401 Al Y2 20| 629,390 541,390 88,000
01 Al&H| 626,000 538,000 88,000
Odta2el =2 EAZAM(EZEL=80m,B8=3m, =t
L=80m,H=0.5m) 33,000,000 33,000 0 33,000
OZ=H22I(177) Bi2=2 F 8| = AH(L=80m)
15,000,000 15,000 0 15,000
O AR B2 FHIZAHL=120m)
22,000,000 22,000 0 22,000
OE12I(82-1)tH 2= 2 F I 2 AH(L=85m, & =Z1
EA, EZ A=20M) 18,000,000 18,000 0 18,000
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N & 0l & Av S Z M A
20198 = =& 1 3] LB 08 ~ =SS
SM: MRS
Ha: Zolao M g
eel: OISU2 0ISXH (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
INESRE=S 687,432 679,332 8,100
o4 &2 gy 189,538 181,438 8,100
orstt2 otsx4d 189,538 181,438 8,100
=0 M3 X 133,142 130,762 2,380
201 Let24E] 20,390 18,790 1,600
01 AFR2telHl 9,800 8,200 1,600
oo - & gs XA 1,600 0 1,600
OOoFZ XTI 25,0003 » 50 1,250 0 1,250
(ORIFSEY)] 7,000& = 50 350 0 350
206 M= Hl 780 0 780
01 M= Hl 780 0 780
OLEDH E (5 & A]) 39,000& = 2004 780 0 780
FAEE A 25,538 19,818 5,720
201 ¢er24| 21,538 15,818 5,720
01 AF2 22l 7,568 1,848 5,720
O (HHSXHH) wAHbI
5,000,000& * 1JHA 5,000 0 5,000
OoRIFAE ZIIEHI iz
45,0008 = 204 ~ 83 720 0 720
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N = 0l & At & Ml A

SN AEE
X XH - ID|/\I-9J Xl SFAF
(=R B

eel: OISU2 0ISXH (&)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2

MES 747,993 741,973 6,020
o4 &2 gy 214,178 208,158 6,020
orstt2 otsx4d 214,178 208, 158 6,020
FAEE A 21,841 16,121 5,720
201 Let24E] 15,841 10,121 5,720
01 AFR2telHl 8,360 2,640 5,720

O (HAH=SXHEH) WAL
5,000,000& * 1JHA 5,000 0 5,000

ORIAAE ZBIEFI Xtz
45,0008 = 204 ~ 83 720 0 720
FOURNXNEEHZ Y 50,360 50,060 300
405 TtobH S| 4,140 3,840 300

01 AL ESFH SH 4,140 3,840 300
& 300,000& * 1K 300 0 300




N & 0l & Av S Z M A
20198 = =& 1 3] LB 08 ~ =SS
2N 2BS
Ha: Zolao M g
eel: OISU2 0ISXH (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
2= 1,015,534 996,766 18,768
o4 &2 gy 261,397 242,629 18,768
orstt2 otsx4d 261,397 242,629 18,768
ST 169,063 167,063 2,000
201 Let24E] 21,265 19,265 2,000
01 AFR2telHl 11,600 9,600 2,000
ogotel 250,000& = 8JH 2,000 0 2,000
FAEE A 24,134 11,766 12,368
201 L Er2A | 17,486 11,766 5,720
01 At 22l bl 7,520 1,800 5,720
OSHE(HHE=XME) WAl
5,000,000& = 1JH2 5,000 0 5,000
ORAAME BIHFI dxz
45,000 = 200 » 8& 720 0 720
401 AIEHI L 2 CHYI 6,648 0 6,648
01 A& HI 6,648 0 6,648
OXlot= Ag2F &I  6,648,000& = 1HA 6,648 0 6,648
FURNXNEEH 22 68,200 63,800 4,400
201 ¢er24l 61,900 57,800 4,100
01 AF22t2l bl 59,900 55,800 4,100
ORGBEHX+ & 012 900,000& * 1MIE 900 0 900
OEua Ix= 400,000& * 8 3,200 0 3,200
405 Xt&tE SHI 300 0 300
01 AL ESH SHI 300 0 300
(OFSE=F=Fa W] 300,000& =+ 1CH 300 0 300




N = 0l & At & Ml A

SN MHS
Zaj: Foiyol M gy
cHel: OISCHR 02X 4 CERED

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
NS 1,004,685 989, 141 15,544
o4 &2 gy 270,681 255,137 15,544
orstt2 otsx4d 270,681 255,137 15,544
FAEE A 33,615 19,975 13,640
201 Let24E] 20,945 15,225 5,720
01 AFR2telHl 7,304 1,584 5,720
OEH(#HAE=SXIME )W H LI

5,000,000& * 1JHA 5,000 0 5,000

ORIAAE ZBIEFI Xtz
45,0008 = 204 ~ 83 720 0 720
401 Al HIZ 201 8] 8,470 550 7,920
01 A& HI 8,470 550 7,920
Oztaa Zst=2 WH 880,000& * 442 3,520 0 3,520
OFANYF XNs2 X 2,200,000& * 204 A 4,400 0 4,400
FURNXNEEHZE 59,464 57,560 1,904
201 ¢er24] 52,504 50,600 1,904
01 ArR2t2lHl 50,504 48,600 1,904
O32d 27,800 * 4004 1,112 0 1,112
ORJIIHE 19,800& * 404 792 0 792
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>
A & 0l & AF 2 E A A
P0I9WE = 1 3 sl L0IY ~ SAHUSS
2N 221S
HE: FOINOINEA
©e: OlBLHE DI2X4 (B9 ®R)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Hwsz
+21s 825,595 815,715 9,880
Zolgol™ery 212,568 202,688 9,880
OECIE D12 X4 212,568 202,688 9,880
=N =BT 17,607 11,207 6,400
201 Yot Fh| 17,607 11,207 6,400
01 Ak 22l 7,960 1,560 6,400
OB (M= ME) DAY
5,000,008 * 1944 5,000 0 5,000
ORI BAS(HZ25MEH)
130,0002 * 8% 1,040 0 1,040
oolEAs BIIEFI YNz
45,0008 * 104 * 8% 360 0 360
ZOITXIME 2 57,200 53,720 3,480
405 THAHF St 3,480 0 3,480
01 AU 2EH St 3,480 0 3,480
© W 2 (800LOI &) 1,200,0002 * 1CH 1,200 0 1,200
CREL 450,000%0 * 2CH 900 0 900
©INA QI 540,0008 * 2CH 1,080 0 1,080
e 300,0002 * 17 300 0 300




N = 0l & At & Ml A

2019HIE 2= 1 8 WA L0IY ~ HHAWAUSYS
2N 4328
Ha: Zolao M g
ol OlBLE OIS XY (B9 ®R)
2N -3 -2 (SH) - NHEAMY - BES Off &4 I E M Husz
#3228 1,168,693 1,163,789 4,904
Zolgol B gy 193,216 188,312 4,904
OECIE D12 X4 193,216 188,312 4,904
HAE A 19,006 16,856 2,150
201 L2yl 5,976 15,256 720
01 Ak 2relt| 2,280 1,560 720
oplAE BIIHEI AxE
45,0009 * 20} * 8% 720 0 720
401 AIEHI L 2T bI 1,430 0 1,430
01 Al 1,430 0 1,430
O2ASE D £
1,430,0008 * 102 1,430 0 1,430
405 THaHE S bl 1,600 1,600 0
01 MY SEHSY| 1,600 1,600 0
CEEE-3Y, 250,0008 * 2JH 500 0 500
oslog oKt 137,5002 * 8JH 1,100 0 1,100
O£ I3 &) 0! 0 1,600 A1,600
ZOIRXIHE 2 60,074 57,320 2,754
405 THAHFE S b 2,754 0 2,754
01 MU SEHSY| 2,754 0 2,754
OHICIRT2ME (£8)  1,500,0008 « 1CH 1,500 0 1,500
OYAE A3 404,0002 * 1CH 404 0 404
CIUEE= 850,0002! * 1CH 850 0 850




& AR E A A

2N
X ZH -
L= B

el

2 0x
o re o
[
10
I
09
0x

SN SAGEA) - MRALY - BES 0l &k o4 0% o

g =8S 1,463,801 1,452,601 11,200
=0laol & g 369,802 358,602 11,200
orsSt2 ntsx4d 369,802 358,602 11,200
F=olds X 286,241 283, 141 3,100
405 TtobFH S 3,400 300 3,100
01 ML ESFHSH 3,400 300 3,100
Bis i 2| 1,300,000& = 104 1,300 0 1,300
1,800,000& = 1CH 1,800 0 1,800
19,746 14,026 5,720
19,746 14,026 5,720
7,520 1,800 5,720
B) wmxlbl
5,000,000& * 1JHA 5,000 0 5,000
axz
45,000 = 200 ~ 8& 720 0 720
63,815 61,435 2,380
57,540 55,160 2,380
50,140 47,760 2,380
27,800& = 5004 1,390 0 1,390
19,800& * 504 990 0 990




